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OFEM BAIE ANES SAES 6,100
= 4,270
Al 1,830
206 M = dl 10,000 6,600 3,400
= 2,800
Al 7,200
01 X2 b 10,000 6,600 3,400
OEMEO LY 15,000& * 200kg 3,000
= 2,100
Al 900
OBMIZH % Hyet 2o 1,000
= 700
Al 300
OS2l 90 2| 15,000& * 400kg 6,000
301 et A= 150,000 0 150,000
= 45,000
= 52,500
Al 52,500
12 JIEtE A2 150,000 0 150,000
OMENHABIA XIEMAHSY XA 150,000
= 45,000
< 52,500
Al 52,500
MEISSIERZ 22 60,285 79,057 N18,772
101 Q121 H] 35,085 53,057 N 17,972
04 JI2ZtHIZ22NEE S 35,085 53,057 N 17,972
OMEI23e22(Hx) o2 35,085
-2 72,4803 « 2 x 160 23,194
-S54 72,480 x 2H x 40F 5,799
L PN 72,480 * 29 « 7Y 1,015
-S4l 5,000& * 2% * 160¥ 1,600
—-4HEE = 31,608,000 * 11% 3,477
201 gBt24A | 18,000 18,000 0
01 AP 22| H| 3,000 3,000 0
OEHZ(0IREL) 2l A2E 22 3,000
02 B32ZH| 15,000 15,000 0
OEU2Z2(0IRELY) SN2 15,000
307 212t0| & 7,200 8,000 A 800
02 QIZHBAAIE E X 7,200 8,000 A 800
OSEA =5, =9 F3Ads X 7,200
22X XA =4 86,000 86,000 0
= 43,000
Al 43,000




2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 86,000 86,000 0
= 43,000
Al 43,000
02 PIZHEHAHE L 50,000 50,000 0
OMEH 22 XA ALY X 50,000
= 25,000
Al 25,000
03 HAHHEE2LHIES 36,000 36,000 0
OME 22 XNAEAN 2 36,000
= 18,000
Al 18,000
AASAEN 01EAE SXAMG(3EA SANEH2 1,800,980 1,001,000 799,980
SlME ZEAY)(HEAY)
< 1,350,000
Al 450,980
201 Let2d] 980 0 980
01 At 22l 980 0 980
ONEZ¢?da 28+ 70,0008 » 7& =~ 23] 980
401 AIEHI L 2CHEI 1,800,000 1,001,000 799,000
< 1,350,000
Al 450,000
01 A& Bl 1,800,000 675,000 1,125,000
OZd SANBH2AeldEH ZEAY 1,800,000
< 1,350,000
Al 450,000
SIEFESK MEZHY 2435t 25,000 20,000 5,000
< 12,500
Al 12,500
307 glz2+ol & 25,000 20,000 5,000
< 12,500
Al 12,500
04 QIZFHALAIH E = 25,000 20,000 5,000
OXH &Note BRI E0| MEASH (=2 E
O O &F) 25,000
< 12,500
Al 12,500
BSXS #lE=X 53 L BHSAEEXNAS (3 260,700 0 260,700
S FEXN S/ L EH0SALEEXNAY)
= 231,000
< 29,700
401 AIEHIZL 2 CHEI 260,700 0 260,700
= 231,000
< 29,700
01 A& Hl 260,700 0 260,700
OSIEZE S &R =2 & 2EH0EANE 4
XA 260,700




- _ _ RE]
M- o9 (B H) - MEAY - B2 %Eﬁ HR=2
= 231,000
= 29,700
HESHALH (=2&HY) 114,362 137,300 N 22,938
Jl2&ddl 105,782 132,620 N 26,838
Jl2AH| 105,782 132,620 N 26,838
201 et 9| 37,550 50,320 N 12,770
01 AR 22l ] 37,550 50,320 N12,770
OFMAZE oy 10,000
OJlEt4=24]| 5,000
OAMNREE FH| 5,000
oozt & 52 22X S|
650,0008 » 279 17,550
202 o4l 54,432 67,800 N 13,368
01 2L I 54,432 67,800 N 13,368
Ol 2 JI2ge F=80b|
168,000 = 27 x 12&€ 54,432
203 R F & 8,400 8,100 300
01 JI22HYFFAH| 3,300 3,300 0
OJ|&22g9g2=&d| 3,300
04 EASHEIRFEH| 5,100 4,800 300
OFMSI YR 425,000 = 12&€ 5,100
204 = 2 =8 A H| 5,400 5,400 0
01 MEgHRSHAH| 5,400 5,400 0
O=2% MAMZHAR24LHAHH| 350,000 = 128 4,200
OWE Mo HARHAYH| 100,000& * 12& 1,200
oA 2AY| 8,580 4,680 3,900
ol A Y| 8,580 4,680 3,900
101 21 214| 8,580 4,680 3,900
03 2INHAZ2Z2XNHE %= 8,580 4,680 3,900
O&tZFZ A& I=H| 300,000& = 10¥H 3,000
OMEj 22l | I =24 300,000 = 1Y 300
OSZZAI3 =&Y
8,000& * 541 x 10¥ = 128 4,800
OHME 222 =&
8,000&  5Al » 1 * 12& 480
S(£=2sA) 69,601 65,300 4,301
NS 69,601 65,300 4,301
2T H| BE3 15,601 11,300 4,301
802 Btat =2 DI E} 15,601 11,300 4,301
01 2DEX3EtaE =2 14,825 7,100 7,725
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